622 [UE—31

Z0-10 (zfar o S we)
June — Examination 2020 fder - Tt gl & SR ANUI Y ST W A YIAER
B.Sc. (Part III) Examination TF Y, T A A Sman 30 v § wrefd
ZOOLOGY FIRTCI T T 1 F B R

Ecology and Environmental Biology

(uiRfarfaents Td u=iawuT Sifaeht)
Paper : ZO-10

1. (1 Who coined synecology ?
fram fea-ssiatst seg gfqarfea feanr 2

(1i1)) Liebig’s law of minimum can be compared

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections W e :
A, B and C. Write answers as per the given A B AT B I F G e
instructions.
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TA® GUS % FRIER ge % IW S| (111) What is zone of physiological stress ?

Section—-A 7x1=7 et = - o Fm E 9

(Very Short Answer Type Questions)

Note -— Answer all questions. As per the nature of the (iv) Name the fwo categories of animals on the

question delimit your answer in one word, one basis of temperature regulation.
sentence or maximum up to 30 words. Each

g fresro =t gfie @ witet =1 € St saee)

question carries 1 mark.
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(v) Fungi secreting antibiotics is an example of

................. type of Antagonism.

~
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(vi) What is Elliptical Orbit ?
ST e T L ?

(vii) In which form does plant obtain the element

sulphur ?

el 1 ger ¥ U fhE w9 H W g 2

Section-B 4x3%=14

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 3% marks.
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2. Explain the hierarchical arrangement of Ecology.
TRfearfant 1 ISHHE el H THSET |

3. Describe the Heterotrophic Organisms.
OIS Siel 1 IR Shifsu |

4. “Soil is a layered mixture of organic and inorganic

materials.” How ?

“ggT, STREE d HEHE Terdl w1 W fago ¥
Y ?

5. Enumerate the sedimentary cycle of the element

which is a major component of Protoplasm.

39 T & 9l 9% & fadfaq wifse st fF Sha
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6. Comment upon the following :
(@) Cybernetics Control
(b) Chlorophyll Method
frafafea w fewfoat wifse .
(1) wiRast frsrm
(=) uoiela fafy
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7. Throw light upon Niche differentiation and

Hypervolume niche.

S=g-3aq feha aen feha fausiao = gt sifem

8. Write notes on the following :
(a) Capture, Mark and Recapture Method
(b) S-shaped curve and J-shaped curve
frefafea w fewforr fafen :
(31) ke, fog do1 qA: gwe fafy
(9) S-3TRR qAql J-3AHR =

9. Explain the adaptations found in the animals of

flowing water habitat.
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(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 7 marks.
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10. Hedgepath has divided marine habitat in two

zones. Explain.

TSN ¥ TS T Hl A €9 ¥ AU &= A
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11. Give the Koppen classification of Biomes.

HA gl K3 T Al w1 At st

12. Discuss the factors leading to climate change in

detail with illustrative examples.

Serary uRadd & fou Imerl fafv= wrent w1 Higr
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13. “Save tigers otherwise there will be no electricity
in future.” Comment on the statement and suggest
measures and also throw light on ongoing projects.
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